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(cor

(MHz) 1ch 4ch 1ch 4ch (4ch%)
p | AMD Athlonod 2000.0 Windows| 058 2.153 0.55 1.892 12.1
3200+
2 Intel Xeon 3065.84 Windows| 0.734 2.781 0.718 2,563 78
3 Pentium 4 2386.55 WinXP | 0.766 2.859 0.734 2578 9.8
4 Pentium 4 2593.69 WinXP |  0.844 3.141 0.813 2.843 95
5 | mobile AMD Athlon 1788.93 WinXP |  1.102 3.905 1.051 3.735 4.4
6 Pentium Il 997.43 Windows|  1.265 4.36 1.265 4.234 2.9
7 Pentium Il 1002.27 Win2000| 1.362 4,697 1.352 4566 2.8
8 Celeron 1703.86 Win2000|  1.344 5,000 1.281 4827 78
9 Pentium Il 934.99 Win2000| 1.422 4927 1.442 4,827 2.0
10 Pentium 4 1495.15 WinXP 1532 5,828 1.500 5.468 6.2
11 Pentium llI 996.77 Windows 1.622 5.688 1.632 5.558 2.3
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Xserve G5 (2GHz Dual)
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16Mbps

Pentium 111 (1GHz)  8Mbps

32Mbps 16Mbps )

AMD Athlon 1.6GHz Dual 100Msps
Xserve G5 (2GHz Dual) 500Msps




